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Rx = Reactive Extension

Reactive Programming= stAl ol = &£




Reactive Programming?
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Observable
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Operators
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filter(x => x > 10)
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map(x => 10 * X)
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Distinct
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Debounce
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var lastClick: Timestamp? =
thisButton.setOnClickListener {
val timestamp = System.currentTimeMillis()
1f (timestamp < lastClick + ) {
return

}
lastClick = timestamp

thisButton.clicks()
.throttle(l, TimeUnit.SECONDS)
.subscribe {

}
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var lastClick: Timestamp? =
thisButton.setOnClickListener {
val timestamp = System.currentTimeMillis()
if (timestamp < lastClick + ) {
return

thisButton.clicks( )

.throttle(1l, TimeUnit.SECONDS)
.subscribe {

}
lastClick = timestamp

thatButton.clicks()

.throttle(l, TimeUnit.SECONDS)
.subscribe {

}

thatButton.setOnClickListener {

val timestamp = System.currentTimeMtillis()
if (timestamp < lastClick + ) {
return

}
lastClick = timestamp
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LlastKnownCoordinate: (Float, Float)? =
LlastRequestTimestamp: Timestamp? =
LlastKnownAddress: String =

.onLocationChange { coordinate ->

if (lastKnownCoordinate == coordinate) {
return

}

LlastKnownCoordinate = coordinate

if (!'App.isInForeground) A
return

}

val timestamp = System.currentTimeMtillis()

1f (timestamp < lastRequestTimestamp + ) {
return

}

LlastRequestTimestamp = timestamp

val address = awalt API.request(coordinate)

1f (lastKnownAddress !'= address) {
print(address)
LlastKnownAddress = address




var lastKnownCoordinate: (Float, Float)? =
var lastRequestTimestamp: Timestamp? =
var lastKnownAddress: String = ""

GPS.rx. location
.distinctUntilChanged( )
.throttle(10, TimeUntit.SECONDS)

GPS.onLocationChange { coordinate -> .filter { App.isInForeground }
if (lastKnownCoordinate == coordinate) { .flatMap { coord -> API.request(coord) }
return .distinctUntilChanged( )
} .subscribe { address ->
LastKnownCoordinate = coordinate print(address)
if (!'App.isInForeground) A
return
}
val timestamp = System.currentTimeMillis()
1f (timestamp < lastRequestTimestamp + ) {
return
}
LlastRequestTimestamp = timestamp
val address = awalt API.request(coordinate)
1f (lastKnownAddress !'= address) {
print(address)
LlastKnownAddress = address




fun requestToServer(retryCount: Int = 3) { fun requestToServer() {
API.requestSomething( )
.then { }
.error { error ->
if (...) {

requestToServer(retryCount - 1)

1 }

API.requestSomething( )
.retryWhen(...)
.subscribe {




 RxJdava, RxSwift, RxScala, RxJS, RxPY, RxGo, RxPHP, ...

* Spring Reactor, Swift Combine
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» http://reactivex.io/



http://reactivex.io/
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e Stateless (= less variable, less side-effect)
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